MIAMI-DADE COUNTY, FLORIDA

MIAMI-DADE METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Hurst Awning Company, Inc.

6865 N.W. 36" Ave.

Miami, FL 33147

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.035” (min.) Steel Storm Panel Shutter Systems

APPROVAL DOCUMENT: Drawing No. 05-343, titled “20 ga. Steel Storm Panel”, sheets 1 through 6 of 6,
prepared by Thornton-Tomasetti Group, dated June 28, 2005, last revision #1 dated July 12, 2006, signed and

sealed by V.J. Knezevich, P.E., bearing the Miami-Dade County Product Control Revision stamp with the Notice
of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # (02-0315.11 and consists of this page 1, evidence submitted page E-1 as well as

approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

/. M\/ NOA No 05-0712.03
Expiration Date: 02/16/ 2007

Approval Date: 08/24/2006

o 8 2/4 06 Page 1




Hurst Awning Company, Inc.

o

'

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #02-0315.11

DRAWINGS
See NOA 02-0315.11 (General Notes)

TESTS
See NOA 01-1224.01

CALCULATIONS
See NOA 01-1224.01

MATERIAL CERTIFICATIONS
See NOA 01-1224.01

STATEMENTS
See NOA 01-1224.01

OTHER
NOA 01-1224.01

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 05-343, titled “20 ga. Steel Storm Panel”, sheets I through 6 of 6, prepared
by Thornton-Tomasetti Group, dated June 28, 2005, last revision #1 dated July 12, 2006,

signed and sealed by V. J. Knezevich, P.E.

TESTS
1. None.

CALCULATIONS
1. Revised anchor calculations, dated June 10, 2005, pages 1 through 49, prepared by
Thornton-Tomasetti Group, signed and sealed by V.J. Knezevich, P.E. on June 10,

2005.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. None.

M«w/u//w

Helmy A. Makar, P.E.
Product Control Examiner
NOA No 05-0712.03
Expiration Date: 02/16/ 2007
Approval Date: 08/24/2006




16:25

07/12/06

07/14/2006 09:59: 45am

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343—01.dwg MCantu

Print Information:

GENERAL NOTES: L WIDTH UNLIMITED ' Top L WIDTH UNLIMITED . Top . WIDTH UNLIMITED ' 1o WIDTH UNLIMITED . D—(
1. THESE APPROVAL DOCUMENTS REPRESENT A SHUTTER SYSTEM ANALYZED WITH (PERP. TO PANEL SPAN) / MOUNT (PERP. TO PANEL SPAN) MOUNT (PERP. TO PANEL SPAN) MOUNT (PERP. TO PANEL SPAN} | ;85,” n T g
FHE PROVISION SET FOR THE ISSUANCE OF A NOTICE OF ACCEPTANCE (NOA) BY SECTION p— t SECTION SECTION p— . SECTION o len |
MiI-DADE COUNTY PRODUCT CONTROL DIVISION FOR T HE HIGH VELOCITY HURRICANE r | o/ A I
YONE (Rviiz) OF THE FLORIDA BUILDING CODE 2004, WITH 2005 SUPPLEMEN HTTETTEITETITETTE T g " " " CRECHIE
< =

2. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THIS PRODUCT. _ ~ - 90 ||O
WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED FOR WOOD LAG SCREW DESIGN. = = ° = =155

w Ce. =

3. DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS T USE WHEN REFERENCING ala ald al3 215 ® 18588
THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING ¢ |< i< <|< 2l & |3%4|e
WIND VELGUITY  FoR WIND LOAD CALCULATIONS IN ACCORDANCE Wit ASCE 7-02, + |t -lE = s S |a73|lE
A DIRECTIONALITY FACTOR OF Kd =0.85 SHALL BE USED. wig wig wlg wlZ SQE|S

N N N w PLAN i v

& THESE APPROVAL DOCUMENTS ARE GENERIC AND DO NOT INCLUDE INFORMATION 2WE o 2% VW 2% W aX Vi E -2EliS

FOR SITE-SPECIFIC APPLICATION OF THIS SHUTTER SYSTEM o, z|e | Y 9, 1 IO Y O 1332
SRR ERINRRIRNIERAREREI | L A T <o || £

5. USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER 61G15-23 @) | 3| (@ 14| 8 | 7F | ! Sle H|HIFHHFIFHHIET Yia ol F_‘ 3:’; 5

OF THE FLORIDA ADMINISTRATIVE CODE. g|o g|o o Z\5 & 382 <
-

6. THESE APPROVAL DOCUMENTS, ARE SUITABLE TO BE APPLIED BY THE CONTRACTOR g 2| 218 ik (e "?5 2o

PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM THE CONDITIONS DETAILED &Y e g2 iy +— 9828

HEREIN AND THE CONTRACTOR VERIFIES THAT THE EXISTING STRUCTURE DOES % |k 2k <le zZiE o |8z

NOT DEVIATE IN EITHER FORM OR MATERIAL FROM THE STRUCTURAL SUBSTRATES a |u ol alw Jx AR

DETAILED HEREIN. <12 <|Z <|Z %2 8 EANES o
=

7. ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS WILL VOID 3 s s g o 122 |le
THE APPROVAL DOCUMENTS. z = <% |5

O\

8. WHEN THE SITE CONDITIONS DEVIATE FROM THESE APPROVAL DOCUMENTS, THE o | | o d {1 k{lb AR EARI il o o o : . o o o z2 |
BUILDING OFFICIAL MAY ELECT ONE OF THE FOLLOWING OP TIONS: ——— m BaryaM o T SALLgM S = BTG e t B3uLg ' 33 §
A) REO.U'RE THAT SITE SPECIFIC DOCUMENTS BE PREPARED, SIGNED, DATED AND kTYPi Z OVERLAP FASTENERS & TYP — OVERLAP FASTENERS & {TYP) (TYP) ” Q

AND DS Iy e DEGIA I £, Ot RECISTERED ARCHITEGT WHICH DETAIL OPTIONAL BAR (SEE PLAN OPTIONAL BAR (SEEPLAN  (NO BOLTS REQUIRED TO HOLD PANEL SEAMS {NO BOLTS REQUIRED TO HOLD PANEL SEAMS
PROBUCT ENGINEER FOR REVIEW Ao xS S B BT T ER IO JHE VIEW 2 NOTES 12 & 13) VIEW & NOTES 12 & 13) OGETHER FOR THIS MOUNTING CONDITION.) OGETHER FOR THIS MOUNTING CONDITION.)
GRANTING HIS/HER APPROVAL. TYPICAL ELEVATION - TYPE | TYPICAL ELEVATION - TYPE Il TYPICAL ELEVATION - TYPE Il TYPICAL ELEVATION - TYPE IV
B) REQUIRE THAT A ONE-TIME SITE SPECIFIC APPROVAL BE APPLIED FOR AND N.T.S. N.T.S. N.T.S. N.T.S. . -
SECURED FROM THE MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION PRODUCT MARKING £3.28
< o0
WHEN THE SITE CONDITION DEVIATIONS OCCUR WITHIN THE HIGH VELOCITY HURRICANE PRODUCT MARKING / LOCATION o 2 §3 25
ZONE AREAS ONLY OPTION "B“ SHALL BE ACCEPTED BY THE BUILDING OFFICIAL. LOCATION SEE GENERAL NOTE Wis 20358
o~

9. PRODUCT MARKINGS SHALL BE WITHIN 12” OF ONE END OF THE PANEL WITH A . . ., < |2 £3853
MINIMUM OF ONE MARKING PER PANEL AND SHALL BE PERMANENTLY LABELED g o g 2118 1110 8l a1sn 2.000 1500" 2.000 ’ a |z Eg3 2

"~ i “ . = v o— vlﬂ

HURST AWNING CO., INC. “‘ />? ~ o ] ,’ Z ||&pEaTS

MIAMI, FLORIDA N . I Tlezgs8"

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED A e 12.500" COVERAGE O |ESERL

10. ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH A s 12.00 COVERAGE | 6.00 L . 5 b1 es 2=
MINIMUM TENSILE STRENGTH OF 60 KSI OR APPROVED COATED HARDW ARE. y ! q [ 13.710" s 8°FE3

. 1350 ONE HALF PANEL PER OPENING ! - ' s

1. STORM PANELS SHALL BE 20 GAUGE STEEL (t = .035") CONFORMING TO ASTM A - MAY BE USEDAS REQUIRED TO 14.250 . | 5 .

ALU&&@?«E 20, 660 GALVANIZED COATING. ALL EXTRUSIONS SHALL BE E0d37¢ ‘ COVER OPENING. mRIE: $&
= |5 -8

12. FOR TYPE | & TYPE Il PANELS, AN OPTIONAL 1 x 1" x 16 GA STEEL BAR MAY BE FULL PANEL HALF PANEL FULL PANEL || 52
USED TO CONTROL DEFLECTION OF STORM PANEL SYSTEM ON INSTALLATIONS < | g £8
DL, A AR T LRSS LIS A SO AT AT SR Zif

05
LESS _ STORM PANEL _____STORM PANEL o | £ g

13. TYPE L& l| PANELS SHALL BE FASTENED AT MIDSPAN W/ 1/4-20 x 1" BOLTS WITH ﬁ‘ 1—2—% SCALE : 3" = 1'-0 SCALE:3"=1-0 || g3
DIE CAST ALUMINUM WASHERED WINGNUTS OR JACKNUTS (SEE TYPICAL ELEVATIONS). o | 2.250" 2 25
FOR PANEL SPANS LESS THAN 48" MIDSPAN FASTENERS ARE NOT REQUIRED. Yo L¢ 1/4-20 x 3/4" MACHINE SCREW
AT D ARANE S TILIZING & STEELBAR SUALL BEEASIENED AT OVERLARS |3 062" | R 250" e STUD PUNCHED INTO AnGLE

e ENED 3T 045 . )
WITH DIE CAST ALUMINUM WASHERED WINGNUTS OR JACKNUTS [SEE TYPICAL | & R 250" N (SEE DETAILS FOR SPACING) 188 i6
ELEVATIONS). 'FOR TYPE ill & IV PANELS, FASTENERS AT PANEL MIDSPAN ARE & ) . 125 TYP. S a2sTYP.  [w ; H : e
NOT REQUIRED 3 3 ol i 5 < ° [ 8 o0 |Lg=L 37 469 N V.J. Knezevich
- -~ . )

14. TOP & BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD CONDITIONS n bt I m pe o 2| e HORIZONTAL ! Professional Engineer
DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE, EXCEPT \ 1 125 TYP. LEG OPTIONAL MZS vl FL License N 0010983
FOR "h' AND “U" HEADER MOUNTING CONDITIONS. I \ A o t 2.00 I L kf===3 3 o8 «

" " 5.00 MAX. . .
15. AT LEAST ONE WARNING NOTE PER OPENING SHALL BE PLACED IN A CONSPICUOUS | 2063 J,_QL , y .00 m
LOCATION ON ANY OF THE COMPONENTS OF THE STORM PANEL SYSTEM ADVISING 2329 (ZAMAC 3 ALLOY)
FUE HOME OWNER OB TENANT THAT THE STORM PANELS WILL NOT OFFER HURRICANE —= RED
NS ALCED WHEN RERTIALE TTARNAG UABE SHALL BE FASTENED ITH PESANERY e WINGN
ADHESIVE OR MECHANICALLY, -h" HEADER _ “U" HEADER _ ANGLE ANGLE ____ STUDDED ANGLE -F" TRACK __ WINGNUT ___ J 006
SCALE:3" = 1-0" SCALE:3" = 1'-0" SCALE:3" = 7-0" SCALE:3" =1-0" SCALE:3" = -0 SCALE:3" = -0 SCALE: 3" = -0
16. WHEN PANEL (1a) IS USED, 6-1/4" AND 12-1/2" 0.C. SHALL BE USED IN ALL DETAILS [ )
IN THESE DRAWINGS IN LIEU OF 6" AND 12" BUT FASTENER SPACING SHALL NOT MNA
EXCEED THAT SHOWN IN ANCHOR SCHEDULES suo
/ ACROSS FLATS 1.00 z
14 GAUGE . 5 5
.-. g 16 GA. © 2 e
= — 3 : ‘ - 5i2|2
s } 8l
B‘L,L R .187" 1.126" g.§ g
WASHERED NUT @ MusT EEE
Fo RS EES S BL 28
. .C., 2|2
SPRING LOCKING IMEE
WASHERED NUT STEEL BAR CLIP (1" WIDE SILL TRACK _ —— ElE
SCALE : HALF SIZE SCALE: 3" = 1'-0" SCALE : 3" = 1'-0" SCALE: 3" = 1-0" FRODUCT REVISED o
83 complying with 4o
—_—— e — - — S — e — Buiding Cad 5=
e Y A " _ X T < =~ 1-1/2" FASTENER @ 12" O.C. Aczepisare o 05 - O alzz
/4" MAX, MIN. / FOR DESIGN LOADS LESS THAN Expiration B Z ®|818
% OR EQUAL TO14LO0PSF. & @ e 5 g g
,_é‘ 6" 0.C. FOR DESIGN LOADS R} o g z
174" MAX. " GREATER THAN 140 P.S.F. A3y =113
/ (3). TYP. (OPTIONAL) 1/27 MIN. OVERLAP \u (SEE ANCHOR SCHEDULE FOR Midmi Dades L8l
OVERLAP FASTENERS 1 SEE TYPICAL ELEVATION g ANY ACCEPTABLE ANCHOR.) Bivicion e
LA ASTENE! g
TYP. (SEE NOTE # 12 L EXISTING & NOTE 12 8 13. @,LUM"ANGLE"CLOSURE PIECE: { 06/28/20(m
STRUCTURE 17 x 2" x 125 To [cale ][drawn by ]
/ ALUM. ANGLE CLOSURE PIECE: 27 % 57 x 125" MAX. AS NOTED MCR
1" x 2" x .055" MIN. TO b hecked b
)
EXISTING ——/ FASTENER @ 12" 0.C. FOR DESIGN LOADS drawing no.
STRUCTURE LESS THAN OR EQUAL TO 140 P.SF. 8 @ 6" 0.C. 05_343
FOR DESIGN LOADS GREATER THAN 140 P.S.F.
{SEE ANCHOR SCHEDULE FOR ANY accePTABLE ANcHOR) PLAN VIEW / CLOSURE DETAILS
SCALE: 1-1/2" = T-0" (sheet 1 of 6




16:25

07/12/06

07/14/2006 09:59: 50am

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343~02.dwg MCantu

Print Information:

EMBED.,

/8" 4 CONNECTION TYPE

EXISTING CONCRETE, —

HOLLOW BLOCK 4
OR WO0OD FRAMING

(TYP.)

MAX.

REFERENCE ANCHOR

EDGE
DIST

SCHEDULE FOR MAX.
SPACING

174" MAX.

SEE MIN. SEPARATION

FROM GLASS SCHEDULE

(SHEET S OF 8)

GLASS

OR DOOR ——+

EDGE

|l

——

-

(O1F)

- (©)CONT.

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

EXISTING CONCRETE,
HOLLOW BLOCK

C3 CONNECTION TYPE

OR WOOD FRAMING

ANGLE TO WALL DETAIL

REFERENCE ANCHOR
SCHEDULE FOR MAX.
SPACING

GLASS
OR DOOR

SEE MIN. SEPARATION

S i
FROM GLASS SCHEDULE |
(SHEET S OF 8)

WO0O0D FRAMING

ANGLE TO WALL OETAIL

1/4-20 MACHINE BOLT &

WINGNUT (8) OR WASHERED

NUT @ 6” 0.C. FOR
TYPE % Il AND @ 12" O.C.
FOR TYPE Wl & TYPE IV

PANEL TO ANGLE DETAIL

WALL MOUNT SECTION
SCALE: 3" = 1" - 0"

WOOD FRAMING

—C4 CONNECTION TYPE
REFERENCE ANCHOR
SCHEDULE FOR MAX.
SPACING

EMBED. /8"
C5 CONNECTION TYPE e (TYP) ] MAX.
EXISTING CONCRETE,
T/ S
© 1" EDGEDIST. /, 5/8" OR WOOD FRAMING REFERENCE ANCHOR
SPACING -i * 'I ]MAX' EXISTING CONCRETE, , SCHEDULE FOR MAX
| N HOLLOW BLOCK S -k SPACING :
Yy 7 OR WOOD FRAMING A 1/4-20 MACHINE BOLT &
. R Zadl NUT @ 12" 0.C. STAGGERED
EMBEO. | b % | R {TYP, TOP & BOTTOM)
(TYP) g N 174" MAX.
? Pil /4T MAX. 25 Ea— -
- Ll S — 1 .
| It : A u
| w ]
SEE MIN. SEPARATION | > n:'-: ¥
fROM GLASS SCHEDULE | I8 SEE MIN. SEPARATION 9lG
SHEET S OF 8) | ol FROM GLASS SCHEDULE S— w
AN ’ OB & ﬁ (SHEET 5 OF 8) W e ;J g
. | 1 a2 GLASS o z 3
LASS 0 gl < OR DOOR | al s
OR DOOR — | z ; % &
: X E (©conT. : g5
w
— 1/4-20 MACHINE BOLT & Iiwn CONT. {TYP. | w
©conr. | meN" OR WASHERED w @op & BOTTOM I v
| NUT (83 @ 6” 0.C. FOR n T I
| TYPE I'& Il AND @ 12" O.C. ] |
FOR TYPE Ill & TYPE IV sl ] o
_Ll—l i 8la T = T . 1/4-20 MACHINE BOLT &
e —C3 CONNECTION TYPE g ",ﬂ'g‘S © or wasHERED
/ ' REFERENCE ANCHOR TYPE 1L Il AND @ 12" O.C.
SCHEDULE FOR MAX. EXISTING FOR TYPE lll & TYPE IV
A SPACING STRUCTURE
W y .
- EXISTING [—CZ CONNECTION TYPE
| STRUCTURE REFERENCE ANCHOR
p— EDGEDIST. | SCHEDULE FOR MAX.

SEE MIN. SEPARATION
FROM GLASS SCHEDULE
(SHEET 5 OF 8)

GLASS

OR DOOR——

— — — —

174" MAX, ~— 1

®

CEILING/INSIDE MOUNT SECTION

N

(O E]

— (©CONT.

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

11/2”
MIN

!
8

MAX, PANEL LENGTH = 7°-6"

- (OCONT.

1 CONNECTION TYPE
REFERENCE ANCHOR i
SCHEDULE FOR MAX. Ttvpe
SPACING

1/4-20 MACHINE BOLT &
WINGNUT (8) OR WASHERED
B3 @ 6” 0.C. FOR

% I AND @ 12" O.C.
FOR TYPE Ill & TYPE IV

PANEL TO ANGLE DETAIL

WALL MOUNT SECTION
SCALE: 3" = 1" - 0"

=Y

\ 174"@® x 1-3/4" S.S. LAG
@ 12" 0.C. W/ 1-1/72"
PENETRATION INTO WOO

SCALE: 3" = 1" - 0"

1/4-20 MACHINE BOLT &
WINGNUYT (8) OR WASHERED
(63 @ 6 0.c. FOR

L Il AND @ 12" 0.C.
FOR TYPE Hi & TYPE IV

o NUT
TYPE

LAG SCREW @ 24" 0.C. MAX.
W/ 1-3/4" PENETRATION

IN CENTER OF STUDS

2" x 6" P.T.
WOOD CONT.

’ 2 - 1/6"% x 6-1/2" S.S.
EMBED. . ,5/8"
4 MAX.

NOTE: THIS DETAIL MAY BE USED
AT TOP OR BOTTOM OF PANELS.

NOTE: USE OF THIS DETAIL IS LIMITED TO = 72 PSF.

WALL MOUNT SECTION

SCALE: 3" =1 - 0"

EMBED.
(TYP.)

SPACING

x SIDE CLOSURE REQ'D. {SEE PLAN VIEW)

BUILD-OUT MOUNT SECTION
SCALE: 3" =1 - 0"

1 CONNECTION TYPE
REFERENCE ANCHOR
SCHEDULE FOR MAX.

EXISTING CONCRETE,
HOLLOW BLOCK
OR WOOD FRAMING—a:

EDGE
DIST.|

% ] SPACING

[ TYP. TOP & BOTTOM.

USE REMOVABLE FASTENERS @ 6”0.C. MAX.
FOR TYPE I & Il OR @ 12" 0.C. MAX.

FOR TYPE Il {DO NOT USE WHERE ANCHOR
SCHEDULE SPACING IS LESS THAN 6” 0.C.)

GLASS

OR DOOR—+

SEE MIN. SEPARATION
FROM GLASS SCHEDULE

(SHEET S OF 8)———]

EDGE
IIZIIST.

Q
@

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

EXISTING CONCRETE,
HOLLOW BLOCK
OR WOOD FRAMING

WALL MOUNT SECTION

SCALE: 3" =1 - 0"

PRODUCT REY ISED
23 complyiag whths the Plorida
7

2 g2 |£
O iha -
D P al
O =z |8
" =4
g0
o 5%z
- 5 5D
L itk g
>0 a
V) isnslE
Q< Tu2||o
NI T
(¥ 8
g |Taglle
RN
B~ (Yor||E
s 8x o
o I3EE|F
o ez
S $8eL18
LO'%
- Mmool
= N
o) FINES o
j=4ve)
-U/\
SOET |2
= 28 |5
172 ||
o P
|- 2
A |lo
|9}

6865 N.W. 36th Avenue
Miami, Florida 33147

Phone: (305) 635-0900
Toll Free: (800) 327-0905
Fax: (305) 634-9078

20 GA. STEEL STORM PANEL

Manf,fact—nrers of Hurricane & Security Protection Products

"QUALITY SERVICE SINCE 1957"

. AWNING COMPANY, INC.

| Ay s
V.j. Knezevich
Professional Engir.eer
FL License No.: PE8910983

description
PREVIOUSLY DRAWING No. 98-218
COUNTY COMMENTS

revisions

0 [06/28/2005| NW
1 107/12/2006] NW

no| date by

—

*° 06/28/2005

scale drawn by
AS NOTED MCR

J
)

design by checked by
[ Vlﬂ L VIK

J

‘ drawing no.

05-343

(sheet 2 of 6

l




16:26

07/12,/06

07/14/2006 09:59: 54am

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343-03.dwg MCantu

Print Information:

w ~
|
SEE MIN. SEPARATION | w
FROM GLASS SCHED. | 3
{SHEET S OF 8) ! z 8
® | 2|5
CONT. [ )
| OB 2
| ol Z
| z/ <
1 gs
GLASS 1/4-20 MACHINE BOLT b o E
OR DOOR —~ & NUT @ 12 0.C. l X8
e
@CONT. (TYP. L z|w
TOP & BOTTOM 1 w
v
g - / Aﬂ |\
ajv S o
wlg 1/46-20 MACHINE BOLT &
d WINGNUT (8) OR WASHERED
—& - NUT B3 @ 6” 0.C. FOR
EXISTING CONCRETE, \ TYPE € I AND @ 12" O.C.
HOLLOW BLOCK FOR TYPE Nl & TYPE IV
OR WOOD FRAMING i 2 CONNECTION TYPE
(SEE ANCHOR SCHEDULE | REFERENCE ANCHOR
BASED ON TYPE OF 1 SCHEDULE FOR MAX.
STRUCTURE) ——— g SPACING
I' » SIDE CLOSURE REQ‘D. {SEE PLAN VIEW)
EMBED, | E«f; NOTES: - THIS DETAIL MAY BE USED AT TOP

OR BOTTOM OF PANELS.

- HEADERS
COMBINATI

& (3) CANNOT BE USED IN
N WITH THIS DETAIL.

ALT. BUILD-OUT MOUNT SECTION

SCALE: 3" =1 - 0"
THREE 1/4"® WOOD LAG -z |, -1z
SCREWS W/ 2-1/4" MIN. P

EMBED. @ 24" 0.C. MAX. \

® 2" x 2" x 125"
ALUM. STUD ANGLE

wO0O0D ROOF TRUSS
OR FRAMING MEMBER

5/8"
M

SHALL BE PERPENDICULAR
TO PANEL

STUCCO FINISH OR
PLYWOOD SOFFIT

174" MAX.

CONT. 4" x ,250"
ALUM. PLATE OVER
WO0O0D MEMBERS

) SEE MIN. SEPARATION
(FROM GLASS SCHEDULE
{SHEET 5 OF 8)

(MAX. DESIGN LOAD = 72 PSF)

#14 SMS BETWEEN
TRUSSES @ 12" 0.C.

OE)

MAX. PANEL LENGTH = 8- 5"

SOFFIT CONNECTION DETAIL

SCALE: 3" =1 - 0"

EXISTING CONCRETE,
HOLLOW BLOCK

OR W0O0D FRAMING

(SEE ANCHOR SCHEDULE
BASED ON TYPE OF
STRUCTURE)

2 CONNECTION TYPE

(12 sTorM PANEL

[ 1
TYP.

1/4-20 S.S. BOLT &
WINGNUT @ PANEL MIDSPAN

EMBED. 5/8° REFERENCE ANCHOR SEE MIN. SEPARATION
(Tvp) MAX. SCHEDULE FOR MAX. FROM GLASS SCHEDULE
SPACING (SHEET S OF 8)
1/4-20 MAGHINE BOLT & A +~
EXISTING CONCRETE, —| WINGNUT (8) OR WASHERED i
HOLLOW BLOCK . NUT (839 @ 6” 0.C. FOR | "
OR WOOD FRAMING | O] TYPE 'L il AND @ 12” O.C. | Y
{SEE ANCHOR SCHEDULE . / FOR TYPE Ill & TYPE IV 1 £33
BASED ON TYPE OF ’ 1 wo
, EXISTING CONCRETE, =k
STRUCTURE) A HOLLOW BLOCK i ] g 2
LA A | OR WOOD FRAMING ! ule
wl - L | W (SEE ANCHOR SCHEDULE I zg
olEd 1B | S  BASED ON TYPE OF [ @z
2l L Z|@  STRUCTURE) [ ZaE
! vl g ' a|x3
et i Zin : x| &=
| pur] < w
~1 | S|@ > —®@d z|jnd
wlZ [ | w >
] | z : —t+ w0 w -
— 6 by T < a : w
SEE MIN. SEPARATION : %| & w
FROM GLASS SCHEDULE | <|r o
{SHEET 5 OF 8) \ PR w @
w -
A o 4 A 9? [ "
1 CLIPS PER HOLE @ 6" 0.C.
NOTE: THIS DETAIL MAY BE USED %ggg?ﬁcgoleclHl E)R
AT TOP OR BOTTOM OF PANELS. c
EMBED ls/a" SCHEDULE FOR MAX.
TMAX. SPACING
SCALE: 3" =1 - 0" SCALE: 3" =1 - 0"
NOTE:  PANEL LENGTH SHALL BE
LIMITED TO TABLE 1 TYPE Il
SEE MIN. SEPARATION
FROM GLASS SCHEDULE
. {SHEET 5 OF 8) +
| . v T
I ") i
! in [
l-_ ®® n a"
I
JE—— 1]
GLASS 5 ONE)
|  orDoor z z
u 2" x 2" x 125" ALUM. 5
: 2 STUD ANGLE z
1/4-20 MACHINE BOLT & Y -
| WINGNUT ® OR WASHERED < | &
| NUT B9 @ 6" 0.C. FOR o I z
| TyPETE naND @ 12 0.C. X 1 I by
| FOR TYPE il & TYPE Iv < MAX. 1/8" TILE f g
= i z /7FINISH MATERIAL i | X
" | z
1/4-20 MACHINE BOLT &
\/S/ WINGNUT (& OR WASHERED _ P -
NUT (B39 @ 6” 0.C. FOR SN
3/4" PLYWOOD TYPE I'& Il AND @ 12" 0.C.
FOR TYPE Il & TYPE IV E\\!
2" x 4" x 1/8” CONT. ORT E
ALUM. TUBE (6063-T6) TWO-3/16" ALUM.
POP RIVETS

1/4"® POWERS RAWL CALK-IN @ 12” O.C.
WITH 7/8" MIN. EMB. IN CONC. OR 6" 0.C. IN
HOLLOW BLOCK OR 1/4"® LAG SCREW

@ 12" 0.C. W/ 1-1/2” MIN. EMB.

IN WOOD. WOOD SHALL BE OF SPECIFIC
GRAVITY “G” OF 0.55 OR GREATER

UD-—— 1/2"® THRU BOLT @ 12" O.C.

1/4"® POWERS RAWL CALK-IN 12” 0.C.
WITH 7/8” MIN. EMB. IN CONC. OR 11" 0.C. IN
HOLLOW BLOCK OR 1/4"® LAG SCREW

@ 24” 0.C. W/ 1-1/2" MIN. EMB. IN W00D
WOO0D SHALL BE OF SPECIFIC

GRAVITY “G” OF 0.55 OR GREATER

@ 2 %

5/8" MAX.

2" x 1/8” CONT. ALUM. ANGLE 6063-Té6

{MAX. DESIGN LOAD = 72 PSF)

"PASS THRU" DETAIL

SCALE:

3" =1 - 0"

2°

OR @ 51" 0.C. MAX, (TYP}

MIN. 2” x 2" x .125"” CONT.
6063-T6 AL. ALLOY

OR 18 GAGE GALV. STEEL
ANGLE

(D@3 sTorM PANEL

CORNER DETAIL
SCALE: 3" =1 - 0"

“x 3" x1/8" OR
2” x 5" x 1/8" 6063-T6
ALUM. ANGLE

® 2" x3"x1v8" TO
2" x 5" x 1/8"
6063-T6 ALUM. ANGLE
W/ 1/4"® STUD @

12" 0.C.

® 12" 0.C.

EXISTING CONCRETE

1/4”® POWERS RAWL CALK-IN
4" 0.C. W/ 7/8"
IN. EMB. IN CONC.

W/ 1/4-20 MACHINE SCREW

NOTE: THIS DETAIL MAY BE USED AT

TOP OR BOTTOM OF PANEL.
(MAX. DESIGN LOAD = 72 PSF)

EDGE MOUNT DETAIL

PRGﬁUC”ﬁ M M"

m.'

of Contral

SCALE: 3" =1 - 0"

M:05-07/2.03%
oL/I6 7.

co7

ThorntonsTomasetti Group

— J
oo c
i =
i -
o Ql
3 3
o |2
28 &}
L] —
TLE|E
o—9Q il v
satllyg
304
"en 3|l E
-l o
NP O
£N0 ||F
COF e
o%'w (|8
wne |[E
Y| 5
2xE|(2
au. =
N
*S
282118
<hd |2
v [N
2z
[N Q
vy
-u/\
Cv -
<A £
S o)
Pl i
o a
Pl o
v}

FL License No.:

§ 3(\08
- (| EXg8R
L& 20a3eg
P = <nnaf
< _E_:@mmﬁ'
a ||g 88288
g ~
= ||€£x=8%8
C(|elsr88
OIEZEEL,
=k
(7] gfgzm"o'u‘

—t 1 =
w5
w g 95
= |5 s
W |= zz
. 1= =z
n =3

3| E\NE3:
2 085
olla gE
Ng 2z
(N O
V.Jj. Knezevich

Professional Engineer
10983

description
PREVIOUSLY DRAWING No. 98-218
COUNTY COMMENTS

revisions

no| date |by

0 [06/28/2005| NW
1 [07/12/2006)| NW

[date

06/28/2005

scale drawn by
[AS NOTED CR

esign by

checked by
VIK

drawing no.

5-343

i
0
(

sheet 3 of 6

;
n
|
|
J




16:28

07,/12/06

07/14/2006 09: 59: 59am

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343—04.dwg MCantu

Print Information:

2" x 2" x .125" ALUM.
STUD ANGLE

1/4-20 MACHINE BOLT &
WINGNYT OR WASHERED
NUT @ 6” 0.C. FOR
TYPE & Il AND @ 12" O.C.

FOR TYPE !l & TYPE IV

W T
[ EN
—®a S
| (]
| i

I

=

lu]

4

w

-

)

f-1/4-20 MACHINE W
. SCREW STUD W/ X
I NUT @ 6” o.C. o
' ANGLE TO ANGLE ¥
| coNNECTION <
] T
X

<

T

i

$/16" ¢ POWERS CALK-IN

EXISTING CONCRETE,
HOLLOW BLOCK
OR WO0OD FRAMING

@ 6” 0.C. W/ 1" MIN. EMBED.

2" x 5" x 1/8”
6063-T6 ANGLE

INTO CONC. OR HOLLOW BLOCK

= \ W/ 5/16-18 MACHINE SCREW

5/8"

AX.

® 2" x 5” x 1/8" CONT.

ANGLE 6061-T6 ALUM. W/
174”9 STUD @ 12" O.C.

NOTE: THIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL.

(MAX. DESIGN LOAD z 72 PSF)

o
Z| T 174" MAX.
5/8" T
MAX: b *
! n
[ @ I
1/4"® POWERS : ‘:
CALK-IN W/ 7/8" MIN. EMBED. |
2 @ 10” 0.C. IN CONC. OR @ i E
6" 0.C. IN HOLLOW BLOCK g
WITH 1/4-20 MACHINE SCREW : z
-
I i
| w
| z
1/4"® MACHINE BOLT <
@ 12" 0.C | o
I X
I <
@ [ z
I
|
Al ~

(MAX. DESIGN LOAD = 72 PSF)

6063-T6 ALUM.
ANGLE ——

m

ANGLE
b \

c———————

TWO0-2" x 5" x 1/8”

2" x 2" x 1/8"
STUDDED

— @6

|~ 1/4-20 MACHINE SCREW
STUD W/ WING NUT @
6" 0.C. TO PANEL
ANGLE CONNECTION

i~—— STUDDED STORM PANEL

+— 1/4-20 MACHINE SCREW
STUD W/ NUT @ 6 0O.C.
ANGLE TO ANGLE
CONNECTION

— THREE-1/4"9 POWERS

MIN. EMBED. IN CONC. W/
1/4-20 MACHINE SCREW

CALK-IN @ 4” 0.C. W/ 7/8~

MAX, PANEL LENGTH = 8'=5"

EMBED

s

{MAX. DESIGN LOAD = 72 PSF)

o Fommmm- ~3

\ |

K\:1/lo"-20--S-'I?UID__ Bl
INTERIOR FASTENING
ANGLE ASSEMBLY
SCALE: 1-1/2" = 1'-0"

'k 3/8"® HOLE FOR
FASTENING PANEL

+ 2" x 2" ALUM.
STUD ANGLE

1/4-20 MACHINE SCREW

m STUD W/ NUT @ 6” 0.C.
TWO-1/4"9® DROP-IN
: ANCHOR @ 7" 0.C.
W/ 1" MIN, EMBED.
IN CONC.
INTERIOR FASTENING
ANGLE ASSEMBLY

SCALE: 1-1/2" = 1'-0"

| I— PUNCH HOLES IN ADJACENT

PANELS TO RECEIVE THIS BOLT
PLACE PANEL OVER EACH
ADJACENT PANEL AND FASTEN
WINGNUTS FROM THE INSIDE

@ STORM PANEL INTERIOR FASTENING DETAIL (USE WITH DETAIL (T))

2l
H

\_MAX. PANEL LENGTH = 8'—5")

IC

EDGE MOUNT DETAIL ANGLE TO "U" HEADER BUILD-OUT ASSEMBLY MOUNT
SCALE: 3" =1 - 0" SCALE: 3" =1 - 0" SCALE: 3" =1 -0" SCALE: 3" =1 - 0"
1/4-20 MAGHINE BOLT &
WINGNUT (€) OR WASHERED
NUT B3 @ 6" 0.C. FOR
TYPE I Il AND @ 12" O.C.
FOR TYPE lll & TYPE IV
N 0 B I~ i TWO - 5/16"® POWERS CALK-IN s T
. @ 3-1/8” 0.C. W/ 1" MIN. EMBED. IN CONC. I i
. n . OR HOLLOW BLOCK W/ 3-3/4" MIN. e - )
2" x 2" x .055" Ol o —O® EDGE DIST. W/ 5/16-18 MACHINE LT
6063-T6 CONT. : . ' SCREW .
ALUM. TUBE | T | L
| o | 2 ®O—
z v o w i 1/4"® THRU BOLT @
— : Z : 2" x 2"x 125 - 12" 0.C. ANGLE TO
- i STUDDED ANGLE o ANGLE CONNECTION
z eMBED) | . .. w 5/8" z
3 ; 4578 z MAX. ! g 1/4"® POWERS CALK-IN @
: S pMax. a X 10" 0.C. W/ 7/8" MIN.
: |
2y : | % | | X EMBED. INTO CONCRETE W/
< - #14 SMS 5 1/4-20 MACHINE SCREW |
| z | @ 6" 0.C.
! ! 1-1/2" MIN. tl H
1 ~— 2" x 7"x 8'-8" MAX, Tf=0.13",
® 2" x 2" x .125”

EXISTING CONCRETE,
HOLLOW BLOCK
OR WOOD FRAMING

STUDDED ANGLE

1/4-20 MACHINE
SCREW @ 6~ 0.C.

1/74”® POWERS CALK-IN
W/ 7/8” MIN. EMBED.

IN CONC. @ 12" 0.C. OR
HOLLOW BLOCK @ 6” 0.C.

NOTE: THIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL.

(MAX. DESIGN LOAD ¢ 72 PSF)

2" x 2" ALUM. TUBE BUILD-OUT

SCALE: 3" =1 - 0"

2" x 2" x 125"
STUDDED ANGLE

1/4-20 MACHINE BOLT &
WINGNUT (8) OR WASHERED
@ 6" 0.C. FOR
TYPE I'& Il AND @ 12 O.C.
FOR TYPE Iit & TYPE IV

NUT (@3

Tw=0.055" 6063-T6 ALUM.

LAP BEAM

EXISTING CONCRETE, /

HOLLOW BLOCK
OR WOOD FRAMING

2" x 3" x 1/4” x 0'-6"
6063-T6 ALUM. ANGLE
(TYP. TOP & BOTTOM)

TWO 5/716-18 MACHINE SCREWS

ALT. LEG DIRECTION

NOTE: THIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL.

{MAX. DESIGN LOAD = 72 PSF}

STORM PANEL SUPPORT BEAM

SCALE: 3" =1 - 0"

3

|l “
2 x’s..ix 1/8

6063-T6 ANGLE

—(® 2" x2"x.125"

STUDDED ANGLE

(& 2" x 2” x 125"
STUD ANGLE

NOTE: THIS DETAIL MAY BE USED AT

TOP OR BOTTOM OF PANEL.

{MAX. DESIGN LOAD £ 72 PSF)

STORM PANEL BUILD-OUT

SCALE: 3" =171

— 0"

——®@

Acceptanes Ne 05 .07/ 2 .03
Exps’a’f tien Daie o 007

1/4-20 MACHINE BOLT &
WINGNUT OR WASHERED
NUT @ 6” 0.C. FOR
TYPE I"& 1l AND @ 12" O.C.
FOR TYPE ill & TYPE IV

FRODUCT REVISED
a3 conaplybng with the Florida

3283 3
#ising Cods

Contro

HIMgE

oo T g
o
B S I
nn N
— jeaN al
I 3 2
) "'16 2
Q
e 1RO 9
+ IDUEIE
o+ S~ 0 || W
Q isoaviiL
v |35 ¢
< uelle
E bed ) (OB Ly
L=l e
o) oS5 ||8
LAl AN = c
H Tor ||l
o3| o
L =% =t
=REEH
o ~o'
o 988118
o (<8315
v [N
— BNE
Q &3 @]
vy
-O/\
LS b
= |52 |5
z2 g|
o5 A
@ e
()
@
- al
Q2 Q
S o2
a2 5533
W& >89
Z s <A
< |€ SS82%
o 8 0 g 20
‘srﬂolf)gr-\
= = pra=d
Cilels78C
'e) TZEu® T
s g Bm %
= 138c23 8
w 3@2m—5
=
=g
[1R] ] -
W g gs
= E - B
w || = gg
. il's 23
< il g -3
O |z 25
g 0§
AR\ St
™~ = =
§ \Poss
= “ T
L JL.

V.J. Knezevich
Professional Engineer
| FL License Noy; 10983

06

<
<<
r—

{
\

description
PREVIOUSLY DRAWING No. 98-218
COUNTY COMMENTS

revisions

no| date |by
O [06/28/2005| NW
1 [07/12/2006] NW

[date

06/28/2005 ]

scale drawn by
AS NOTED MCR
|

]
g
| 05343 |

(sheet & of 6]




16:28

07,/12,/06

10: 00: 03am

07,/14 /2006

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343—05.dwg MCantu

Print Information:

TABLE 1 - STORM PANEL(1)& (1a) SCHEDULE

TABLE 2 - MIN. STORM PANEL SEPARATION FROM GLASS SCHEDULE

TYPE | TYPE Il TYPE Il TYPE IV
MINIMUM SEPARATION | MINIMUM SEPARATION
FOR MOUNTING FOR MOUNTING FOR MOUNTING FOR MOUNTING POSITIVE FOR INSTALLATIONS | FOR INSTALLATIONS
CONDITIONS W/ CONDITIONS W/ CONDITIONS W/ CONDITIONS W/ DESIGN |ACTUAL SHUTTER 30’ OR LESS GREATER THAN 30’
“h” OR "U” HEADERS | HEADERS & SILLS |"h” OR "U” HEADERS | HEADERS & SILLS LOAD SPAN (L) ABOVE GRADE ABOVE GRADE
NEGATIVE [ SILLS USING STUDS,| USING STUDS, BOLTS |& SILLS USING STUDS,| USING STUDS, BOLTS W (FT - IN) (INCHES) (INCHES)
DESIGN LOAD | BOLTS OR DIRECT OR DIRECT MOUNT BOLTS OR DIRECT OR DIRECT MOUNT (PSF)
W MOUNT @ 6" O.C. MOUNT @ 6" O.C. MOUNT @ 12" O.C. MOUNT @ 12” O.C. BAR NO BAR 'NO BAR
(PSF)
BOLTS OR BAR REQ'D. BOLTS OR BAR REQ’D. NO BOLTS OR BAR REQ’D. | NO BOLTS OR BAR REQ’D. S-0 2 2-1/2 1-1/ 4
AT MIDSPAN OVERLAPS AT MIDSPAN OVERLAPS AT MIDSPAN OVERLAPS AT MIDSPAN OVERLAPS 40.0 8 5 2 2-1/2 1-1/2
L max. L max. L max. L max. .
12 - 0 N/A 3-1/4 2-1/2
(FT-IN) (FT-IN) (FT-IN) (FT-IN) s > 172 YN
40.0 8-8 12-0 8-8 n-6 50.0 8 -5 2 2-1/2 1-5/8
45.0 8 -8 12 -0 8-8 10 - 10 11-9 N/A 3-1/4 2-3/4,
50.0 8-8 1-9 8-8 10 -3 S -0 2 2-1/2 1-1/4
55.0 8-8 M-2 8-8 9-9 60.0 8-5 2 2-1/2 1-5/8
60.0 8-8 10 -9 8-8 9-4 10 - 9 N/A 3-1/4 2-1/2
62.0 8-8 10 -6 8-8 9.3 5-0 2 2-1/2 1-1/4
65.0 8 -8 10 - 4 8-8 9-0 70.0 8-5 2 2-1/2 1-374
70.0 8-6 9 -1 8-8 8-8 9-M N/A 3-1/4 2-1/4
72.0 8 -4 9-9 8-7 8-17 5-0 2 2-1/2 1-1/4
75.0 PR P r— — 80.0 8-5 2 2-1/2 1-7/8
80.0 7-6 9-3 8 -1 81 9 -3 N/A 3-1/4 2-1/8
30.0 6-8 8-9 -2 -8 90.0 Z_g z 2-1;2 :—;//:
100.0 6-0 8-3 6-6 7-3 ' - = Y -
110.0 5-6 7-1 5 -10 6 -1 o > 21/2 1e
120.0 5-0 7-7 5-5 6-1 100.0 6-0 2 2-1/2 1-3/8
130.0 4L -7 7-3 5-0 6-4 8 -3 2 2-1/2 2
140.0 4L -3 7-0 4 -7 6 -1 P 2 2-1/2 14
150.0 L-0 6-9 4-3 5-1 110.0 6-0 2 2-1/2 1-3/8
NOTES: 7-1 2 2-1/2 1-7/8
1. ENTER TABLE 1 WITH NEGATIVE DESIGN LOAD TO DE TERMINE MAXIMUM 4-0 2 2-1/2 1-1/4
PANEL LENGTH. 120.0 6-0 2 2-1/2 1-3/8
2. REFERENCE APPROPRIATE COLUMN IN STORM PANEL SCHEDULE BASED -7 2 27172 1-7/8
ON MOUNTING CONDITIONS IN FIELD.
NOTES:

3. SEE NOTE No. 16 ON PAGE 1.

1. ENTER TABLE 2 WITH POSITIVE DESIGN LOAD TO
DETERMINE MINIMUM SEPARATION FRON GLASS.

2. FOR DESIGN LOADS BETWEEN TABULATED VALUES USE NEXT
HIGHER LOAD OR LINEAR INTERPOLATION MAY BE USED TO
DETERMINE ALLOWABLE PANEL LENGTH.

3. " N/A " DESIGNATES NOT APPLICABLE - MUST MEET “"NO BAR” REQUIREMENTS.

691+ COA # 7519
p.com

, Suite 450 « Ft. L?a’uderdale, FL 33301
oup.

G

3690
bsite

[

| Thornton-Tomasetti Group

330 N. Andrews Ave,
Tel. (954) S\ZNZ

[ Copyright © 2006 Thornton-Tomasetti Group, Inc.

6865 N.W. 36th Avenue
Miami, Florida 33147
Phone: (305) 635-0900
Toll Free: (800) 327-0905
Fax: (305) 634-9078

20 GA. STEEL STORM PANEL

Manuifacturers of Hurricane & Security Protection Products

WIRISHTi

AWNING COMPANY, ING.
"QUALITY SERVICE SINCE (957"

!

|

V.J. Knezevich
Professional Engineer
FL License No.: PE-2410983

description

PREVIOUSLY DRAWING No. 98-218
COUNTY COMMENTS

revisions

1 107/12/2006| NW

no| date |by
O [06/28/2005| NW

(-

date

06/28/2005

design by checked by
Y

drawing no.

05-343

J
[s/cAaSIeNOTED ] [dmwn b{wcn]
}

(sheet 5 of §)




17:25

07/12/06

10: 00: 09am

07/14 /2006

P: \FL1\Projects\KK5343.00\Drawings\R1—sub\05—343—06.dwg MCantu

Print Information:

ANCHOR SCHEDULE

FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS

ANCHOR SCHEDULE

FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS

Ol .
I " £
Q ks {|=
[} Y g_
r i 3
U LOAD MIN. 2" EDGE DISTANCE MIN. 3" EDGE DISTANCE J LOAD MIN. 3/4" EDGE DISTANCE S o5 |15
=1 {W) | SPANSUP TO | SPANS UP TO | SPANS UP TO | SPANS UP TO | SPANS UP TO | SPANS UP TO S (W) | SPANSUP TO | SPANS UP TO | SPANS UP TO E sYelE
&« P.S.F. 5-0" 8'-5" 12°-0" 5'-0" 8'-5" 12'-0"" = P.S.F. 5°-0" 8'-5" 12'-0" O %2 2
w ANCHOR TYPE MAX.|  (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) v ANCHOR TYPE MAX.| (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) K E3w3E
b‘, (SEE | CONNECTION TYPE | CONNECTION TYPE | CONNECTION TYPE | CONNECTION TYPE | CONNECTION TYPE } CONNECTION TYPE '.V-'b (SEE | CONNECTION TYPE j CONNECTION TYPE [ CONNECTION TYPE E ES’G =
> NOTE |  (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) % NOTE |  (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) S o5 |18
w 1) Jcilc2lesicalcs|cr]czlca|ca|cs]|criczica|cales|c1|cz|c3]calcscr|cz|c3lca|cs|cr|cz|c3]|calcs w 1) |c1]cz|c3|cajcs|cr|c2|c3|calcs]crcalc3lca|cs = |93 £
43.0 |12.512.512.512.512.5012.5/12.5[12.5| 7 | 11 12.5{12.512.5| & | 7 }12.512.5/12.512.5{12.5}12.5[12.512.5] 7 {12.5h12.5/12.5[12.5| & | 9 , 2" MIN. r 43.0 12.5112.5/12.5/12.5/12.5}12.5/12.5/12.5] 9 | 11 J12.5/12.512.5) 6 | 7 a %5% <
50.0 [12.5/12.5[12.512.5/12.5/12.512.512.5| 5 | 9 h2.5[12.512.5| 3 6.2912.5/12.5/12.512.5/12.5}12.5/12.5/12.5| 5 | 11 h2.5/12.5/12.5/ 3 | 7 Gm 50.0 h2.5[12.5012.5112.5/12.5012.512.5/12.5 7 | 9 Jh2.5[12.512.5| & (6.2 o ‘;155 ©
-+ [~
Y TAPCON ws |.72:0 [12.512.5012.5 7 | 11 12.5/12.512.5 3 jp.2312.5 8 | S t hzshasha2s| 7 h2shz.shz.spi2s 3 | 7 h2s| 8 | s 5 /49 x MIN. 3* LoNG |72:0 [12:512.5012.5[ 10 | 11J12.512.512.5 & 6.23125/ 11| 7 | 3 | & o 3237 §
1-374" MIN. EMBEDMENT | 84.0 [12.5112.5/12.5 5 | 9 h2.5/12.5 8 s has| s | a4 3 h2shas)izs 6 | 11 p25pi25 8 | 3 29125 6 | 4 4 ehAG SCREW Wy MIN, 2° | 84.0 25/12.512.5/ 8 | 9 J1250125 11| &4 | 5 1258 | 6 3 SRR
MIN. 3,192 P.5.I. cONCRETE) | 150.0 [12.5) 11 7 sl10]4]3 3§10{4 3 3 hasl12] 7 629 11| 4 | 3 I ISE 3 GR PERP. TO WOOD GRAIN| 150.0 12.5/12.5/ 10 | 3 | 5 h25/ 5 | & 32854 3 2 22 ?
S OIS | 4300 12.512.5[12.512.512.5012.5[12.512.5] 7 [12.5012.5/12.5112.5] & | 9 0 43.0 }12.512.512.56.25/42.5[12.5/12.5 9198 — ;g 5
3 TS | 50.0 12.512.5[12.512.5(12.5}12.5(12.5112.5| 5 | 11 fi2.5/12.5012.5, 3 | 7 o * 50.0 [12.5/12.5{12.5| 5 nin|n 884 » o3 5
1@ ELCO MALE/ FEMALE( 72.0 12.512.5112.5| 7 [12.5}12.5(12.512.5 3 | 7 h25/ 8 | 5 5 O | /160 woop BusHing |72:0 [12:512512.5 884 5 == I8
MIN. EMBED. & 174-20 | 84.0 12.5/12.5/12.5/ 5 | 11 h2.5h2.5] 8 6.2912.5| 5 | & A ; W/ 5/8" MIN. EMBED. & [ 84.0 [11] 11| 11 .25 5 | 3 A
MR 2,000 BS ), CONCRETE) | 150.0 h25 11| 7 24 10| 4 | 3 3[04 |3 3 VN eIINE ScrEw o[ 150.0 .28 4 3 3
43.0 [12.5)12.5/12.5/12.5/12.5h2.5/12.5/12.5] 4 | 7 |12.5/12.5/12.5 s h2.5/12.512.5t2.5/12.5112.5/12.512.5| 6 |12 hi2.5/12.5/125] 3 | 8 e SRS | 43.0 J2.5pi2.502.5] 11 12.5012.5012.5[12.5 4 | 8 J12.512.5[12.5 6
* 50.0 [12.5/12.5/12.5| 9 | 11 p2.5112.5/12.5] 3 b.29012.5/12.5 8 4 h2.sl2.5h2.5 11 12.5)12.5012.512.5) & [10 h2.shizs 1] 3 | 7 *W 50.0 [12.5/12.5/12.5| 8 |12 fi2.5)12.5/12.5/ 3 | 7 12.5h2.5 7 5 g -
=
W | 1/4 0 powERrs CALK-IN | 72.0 (1250125125 & | 7 25125 8 4 [10]s5]3 3 h2.sy12.5012.5] 6 [12.5h2.5112.5 10 7 h2sk.25 & 5 174"@ ELCO MALE/ FEMALE| 72.0 12.5h2.5p2.5] 4 | 8 2125 7 S EIINE 3 12 83558
= | W/ 7/8” EMBEDMENT & B AR TALE/ RENAL WL >n9eg
Ll 1/4-%%%ITINE"§ECSRSEEITEEL 84.0 J12.512.5112.5| 3 6.2512.5/ 9 | 5 L]l8 4 12.5112.512.5( 4 |10 125/ 11| 7 2915 | 3 4 MApélI-ININEEMSBCgl;EE'V%\}I/I‘f-;IzrgUT 84.0 J12.5125/125 3 | 7111 8|5 L1773 3 <Z: 2 _‘ég@ﬁi
5 | (MIN. 2,000 P.S.I. CONCRETE) | 150.0] 11 7 | 5 37 7 12.5] 9 6.25 693 3{9]3 3 150.0 [10 .29 & 4 .25 .25 o gg-ggéﬁ
= v— Ua)
> L [ 43.0 p2.512.512.5] 7 |10 p2.sph2.sj2.5) %6.29410[10] 9 4, ha2.sh2sh2s| 8 [12.5)12.5012.5012.5) 3 | 7 [ 11| 1] 10 5 E SERCOTR
o == [500 pzsjzshzs 5 s [1z]12]1 s|s|8]5 3 [12.5p12.512.5 6 | 11 1251251250/ %6.24 3 | 9 | 5 A S ECEES
O | 14re Powers RawL | 72.0 [12512.5125)/76.29 8 | 8 | 5 3|63 12512501253 | 71995 4 .25 3 3 o |2 g5
ZAMAC NAIL-| ANCHOR NOTES: 2e TR
1-378" MIN. EMBEDMENT | 84.0 |12 (12|12 51753 315 12.5(12.5(12.5 6298 (6|3 315 ——— ﬁ E
1. SPANS AND LOADS SHOWN HERE ARE FOR DETERMINING ANCHOR SPACING ONLY. ks §5
MIN. 2,000 P.S.1. CONCRETE) | 150.0 .23 4 314 & 71513 314 e ALLOWABLE STORM PANEL SPANS FOR SPECIFIC LOADS MUST BE LIMITED TO THOSE | E g2
E} 43.0 h2.sh2.sl2.5j12.5/12.5h2.5112.5/12.5] 5 | 11 h2.512.5112.5] 3 | 7 j12.5}12.5/12.5/12.5/12.5}12.5/12.5/12.5| 5 | 11 p2.5/12.5012.5) 3 | 7 SHOWN IN TABLE 1. PRI 5P
% g2
50.0 12.5h12.5/12.5| 9 f2.sh2.5h2.542.5) 4 | 9 ha.shas| 9 6.2512.5112.5/12.5) 9 [12.5h2.5l12.5012.5) 4 | 9 h2.sh2.s 9 6.29 2. ENTER ANCHOR SCHEDULE BASED ON THE EXISTING STRUCTURE MATERIALF& < g g8
176+8 1w RED HEAD | 72.0 iz Shi252.5 5 | 11 haslizs| o [77e.2q 115 [ 4 4 25hz5p125] 5 |11 j2sh2s 9 k2 1|5 | & 4 A HOR Y AN DG D T AN R SR T T oD 28D GREATER arlAN.OR S5 83
ANCHOR W7 1178 MIN. | 84.0 12.512.512.5| 4 | 9 125 9 | 6 5]9]43 3 h2.sj12.5112.5| 4 | 9 125/ 9 | 6 3 EBE 3 THAN OR EQUAL TO SHUTTER SPAN. L £5
‘MlN.3000 P.S.lL éONCRETE) 1S0.0 125 8 | S St713 31713 3125 8|5 St17 |3 3173 3 3. SEE MOUNTING SECTION DETAILS FOR IDENTIFICATION OF CONNECTION TYPE. é ;:8'

43.0 12.5/12.512.5/12.5/12.5h2.5/12.5/12.5| 5 | 8 h12.512.5112.5] 3 | 5 |12.5/12.5/12.5/12.5/12.5}12.5[12.5} 13 |6.2512.5}12.5/12.5/12.5] 3 | 9 &, EélzséTngl’?cE&RNUC%B%REC“QEU?E %%EC.BEEEES%%QH%F?LT%KE%&g’&%ﬁ%ﬂ”& ,

50.0 (12.512.5012.5 9 | 11 i2.5l12.5912.5) & | 7 h2.5/12.5 9 &t h2.shz.si2.50 12 12.5012.512.5/13 | 5 | 11 2525 11| 3 | 7 EXISTING STRUCTURE. ' [ |
1/15"'?/29%52'%&332{'(% 72.0 12.5/12.512.5; 5 | 8 [12.512.5| 9 L1105 | & 3 M2.5[12.5(12.56.2512.5{12.512.5 11| 3 | 7 f25 7 | S S 5. ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURERS’ ’_\7] Knezevich
BOLT (3/4"8 HEAD) W/ | 84.0 1251251255 4 | 7 J125 9 | 6 BEINE 12.512.5012.5| 5 | 11125/12| 7 [/ 7624115 |3 & RECOMMENDATIONS. professional Enginoer
(MIN. 20005 o1 conchersy | 150.0 [12 |8 [ 5 37 7 12510 .25 6lol3 3|9 3 3 6. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES WALL FINISH OR STUCCO. | L License No. JLg0963

— < 43.0 2501250125 5 | 8 | 11] 1] 11 51717629/ 3 h25n2.5012.56.25 10 250251250/ 6 | 9 | 5 | & % 7. WHERE XIS TING S TR TR I O PR A e e R N S RRLING |
50.0 [12.512.512.5| 4 | 7|9 |9 |9 4 k.256.25 & 3 plzshasfes 4 (81| nin S 17174 3 MEMBERS, NOT PLYWOOD. FASTENING TO PLYWOOD IS ACCEPTABLE ONLY FOR ‘ 4
720 [ 11| 1 5 k.2%.29 3 4 h2.5h25125 ) 6 |77 | & 3]s SIDE CLOSURE PIECES.
8. WHERE LAG SCREWS FASTEN TO NARROW FACE OF STUD FRAMING, FASTENER
8L019 9 |5/ 45> % 3 W5 823413 31 % SHALL BE LOCATED IN CENTER OF NOMINAL 2" x 4” (MIN.) WOOD $TUB. 3/4" JU 08
v e 3 3 Ak 3 3 D L ANCE IS AT AL O AR CAMIG L2RR R HATE TR
(U] % ST | 43.0 12.512.5/12.5| 9 | 11 12.512.512.5 3 | 7 112 |12 |10 4 PHILLIPS PAN HEAD OR HEX HEAD. )
Q | ¥ i 500 o e e % B AN CITOR AND PAY FIAVE EITHER A B AN BEAD TRUSS HEAD, O WAFER
n 72. , , &l
MACHINE SCREW WITH NUT : e L d . BlZ|z
I.ll_.l N ey coneren [150.0 8153 315 S 10. DESIGNATES ANCHOR CONDITIONS WHICH ARE NOT ACCEPTABLE USES. - ‘é%g
c >
g:.l 43.0 h2.512.51125 6 | 8 [11] 11| " N ERERE 3 h2.sp2.502.5) 7 | 11 h2.5j2.512.5 7T10]10]9 4 11. * DESIGNATES ANCHORS WHICH ARE REMOVABLE BY REMOVING MACHINE EREE
O * 50.0 J12.5/12.5/12.5) & 6.2 1010 10 774 12.512.5/12.5) 5 | 10 [12.512.5/12.5 3 ERERE L SCREW, NUT OR WASHERED WINGNUT. X E
= | /478 POWERS CALK-IN | 72.0 [ 11} 11 11 4 b.256.29 & 4 12.512.512.5 7|88 s 4|63 IE
O [174-28, 5T AINESS STEEL| 84.0 10|10 10 t|s|a 4 12.5112.512.5 6|l7|5]|3 3]s =
) 15005 | 3 3 3 7143 3| 4 EBE
z
43.0 12.5/12.5112.5| 7 | 10 h12.5/12.5/12.5 69|98 4 h2.5h2.512.5) 8 [12.512.5012.5/12.5) 3 | 7 [ 11| 11] 9 5 3 L TS e
I PROSUCT REVISED HE
% ——— [ 50.0 251250125 5 | 8 [12[12]12 s|s|8]5 3 Jt2.512.5/12.5| 5 |10 f12.5[12.5[12.5(/6.24 9 | 9 | S 4 Y Egg
> | 1478 powers rawL | 72.0 J12.512.5012.5 68|84 3ls]|3 125125012531 7]9 |95 4 k.25 3 3 st
ZAMAC NAIL-IN W/ c|°|~
— 1-174" MIN. EMBEDMENT | 84.0 |12 |12 (12 S}|7|5]3 3|5 12.5112.5(12.5 629 8|53 3|5 ;e
o) 150.0 .29 & 4 4 7753 3|4 4 : 06/28/2005 ]
=z E] 43.0 h2.sjiz.5712.5] 9 [12.5h2.5/12.512.5] 3 | 8 J12.5712.5 11 5 li2.5p2.5012.5) 9 [12.5h2.5012.5/12.5] 3 | 8 jz.512.5] 11 5 (‘X?NOTED][""’W""KMQ
50.0 [12.5/12.5/12.5/6.25 12 Jr2.5/12.5/12.5 7|1 11k.29 s [12.512.512.56.29 12 h12.5/12.5/12.5 7 [11] 1125 5 [des;gnby ][checkedby
174”9 1Tw RED HEAD | 72.0 fi2sfizsfi2s/ 3 [ s [ | 1nk2s a7 ] 3 hzsh2shizs 3 (s |12 47 |4 3 VIK VIK
DYNABOLT SLEEVE | drawing no.
ANCHOR W/ 1-178" MIN. | 84.0 [12.512.512.5 7|9k29 s 4 .29 3 12.5112.5112.5 7]9 629 & 4 k.29 3 g ’
150.0[ 8 [ 5 | 3 4]s 5 8|53 4|5 5 ‘ 05-343

(sheet 6 of 6




